Pre-calc Revisiting Sections 1.4,1.5

L. Given the following graph, find:
a. f(0)= (,

b. Find x if f(x)=2 )4‘-'3) X=4,
¢. Domain: ['2,5]
d. Range: [ -1, 7:'

U\

e. Intervals of x where the ( -2 \ (-1 )
function is increasing )

2. For the function, f(x)=+/x+ 7, answer the following questions.

a) What is the domain of f(x) (use interval notation)? [ -, @ )
b) What is the range of f(x) (use interval notation)? [ o oo )
/

c)gind the inverse of the function, f™'(x)
2
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d) What is the domain of the inverse of the function, f (x)?
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5x+2 = 5xvr

3. Find the inverse of the function, f™'(x) if f(x)= - —=—=
x— N

Pily- Y=z Y (x-1) = 5%t
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4. Find f(g(x)) and find g(f(x)) using the functions, X ( \j 4 5) - (j v

fx)=x =5 g(x)=x+3 )
£9(x)= f (Vxrs ) 9 (£¢)

hrs -5 cxe3sdxz| | T {x-5+3 %\ Kz’z')
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iDn'v:nd the domain of each function, Then, solve each equa
I . .
se of the function using proper function notation. Find

8+(b=3>(
kd‘l"ﬂ = X
2
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A Doman of €7 jc Range of £

tion for x. Once each equation is solved for x, write the
the domain of the inverse.

_4x-3
x+2

3()@2}‘- Yy -2
o Xyt2y = e >
(o, D002 xy -y = 7273
x(y-4) = “2475

)y

R e)y=§x_1 0 y=vres -2, 2)
D! (-, WV (Y,e) Y(2x-1) Zd%+ D

%(X‘H):ZX'Y‘ 5)“5—,3_1_“4)(5 (32_: TS

Xy -ty = 2x 1| - -z

3 XH L PRy =43\ Y 5%

ij—lﬁ - % Yt _
X(sj,Q,B :‘/\y“") X(gﬁ'qh kj] WCJ\(&(S/\ = % 5
X = L—{kj’\" X - E’J’/—_\:,é .

Sz 3+ Dot f = [0,0)

4 3gj*t{
Dot £7° DO/( {/\
(—a)’f2§u(2,af)> (’6",% U(%,&O)
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